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Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

+∞∑
n=0

xn =

+∞∑
n=0

xn

n!
=

ln(1 + h)
0
∼

tanh
0
∼

1

1 + h
=

(1 + h)a =

cosh =

sinh =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

+∞∑
n=0

xn =

+∞∑
n=0

nqn−1 =

eh − 1
0
∼

tanh
0
∼

ln (1− h) =

(1 + h)a =
√
1 + h =

cosh =



En
on
cé
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Compléter les formules suivantes :

+∞∑
n=0

xn =

+∞∑
n=0

xn

n!
=

ln(1 + h)
0
∼

tanh
0
∼

1

1 + h
=

(1 + h)a =

cosh =

sinh =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

+∞∑
n=0

n2xn =

+∞∑
n=0

nqn−1 =

sinh
0
∼

√
1 + h− 1

0
∼

1

1− h
=

eh =

cosh =

tanh =
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Date : Numéro d’étudiant :

Compléter les formules suivantes :

1− cosh
0
∼

eh − 1
0
∼

+∞∑
n=0

nxn =

+∞∑
n=0

n(n− 1)qn−2 =

1

1 + h
=

ln (1− h) =

sinh =

tanh =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

ln(1 + h)
0
∼

sinh
0
∼

+∞∑
n=0

xn =

+∞∑
n=0

nxn =

eh =
√
1 + h =

cosh =

tanh =
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Compléter les formules suivantes :

ln (1− h) =

(1 + h)a =

sinh =

cosh =

eh − 1
0
∼

tanh
0
∼

+∞∑
n=0

n(n− 1)qn−2 =

+∞∑
n=0

nqn−1 =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

1

1− h
=

eh =

sinh =

tanh =
√
1 + h− 1

0
∼

1− cosh
0
∼

+∞∑
n=0

nxn =

+∞∑
n=0

n2xn =
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Date : Numéro d’étudiant :

Compléter les formules suivantes :

ln(1 + h)
0
∼

eh − 1
0
∼

+∞∑
n=0

xn

n!
=

+∞∑
n=0

n(n− 1)qn−2 =

1

1 + h
=

√
1 + h =

cosh =

tanh =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

sinh
0
∼

tanh
0
∼

+∞∑
n=0

n(n− 1)qn−2 =

+∞∑
n=0

xn =

1

1− h
=

eh =

(1 + h)a =

cosh =
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Compléter les formules suivantes :

+∞∑
n=0

nxn =

+∞∑
n=0

xn

n!
=

1− cosh
0
∼

eh − 1
0
∼

ln

1 + h
=

(1 + h)a =

cosh =

eh =

Nom Prénom Groupe

Date : Numéro d’étudiant :

Compléter les formules suivantes :

+∞∑
n=0

n2xn =

+∞∑
n=0

nqn−1 =

√
1 + h− 1

0
∼

ln(1 + h)
0
∼

(1 + h)a =
√
1 + h =

tanh =

ln (1− h) =


